TIAF— b A= a I/l A A2E10H15H (R)

B33 A — 7 Y a v
MR B D AIAL

WKL, 774 /Mgt —27 3 a 1 [T ZhlE 7z D
LR L EIFE 9,

AH. 10H15H OR) IZBif S TIHE £ L B33 A4ERL &
F—=073av] ITREELT, L<DTHMZHEH VN LH TS
Wx L7,

Bk OISR B ZTHNZRR, BHEE2, 00062 K& < kRS

M2, 2415, BFIEI0. DL WO BRARA—T T a VBT
ZTELEFZEREHPL LIFET,

ESZHEME. TI7AF—bF—7 T a3 VINIREE T
DEIhRE. BELSBBHWHL ETET,

(F—27 > a U HEE)
mmas 2, 2418 wwan 2, 02758 mw= 90. 5%
(WiAE S22, 28TE WG90, 4% )

(2 —J—iik R )

a—r;—4 HmEE NS
MAX10a—)— 1215 99. 1%

100 %5e)a—F,— 1924 96. 4%
HR T4 —F—+Y—Ra—F— 2345 93.1%

TIAF—bA =273/l
dmpE Ik o
HHRE




